Nazism and the Rise of Hitler

Assertion & Reason Type Questions

Directions : In the following questions given below, there are two statements
marked as Assertion (A) and Reason (R). Read the statements and choose the
correct option:

a. Both Assertion (A) and Reason (R) are true and Reason (R) is the correct
explanation of Assertion (A).

b. Both Assertion (A) and Reason (R) are true, but Reason (R) is not the correct
explanation of Assertion (A).

c. Assertion (A) is true, but Reason (R) is false.
d. Assertion (A) is false, but Reason (R) is true.
Q1. Assertion (A): Hitler was not interested in the youth of the country.

Reason (R): Ten year olds had to enter Jungvolk which was a Nazi Youth group for
children below 14 years of age.

Answer : (c) Assertion (A) is true, but Reason (R) is false.
Q2. Assertion (A): Nazi propaganda was effective in creating a hatred for Jews.

Reason (R): The Nazi regime need languages and media with care to propagate
against the Jews.

Answer : (a) Both Assertion (A) and Reason (R) are true and Reason (R) is the correct
explanation of Assertion (A).

Q3. Assertion (A): Women played an important role in the French Revolution.

Reason (R): French women were free to change their patterns but there was a code
of conduct for the German women.

Answer : (b) Both Assertion (A) and Reason (R) are true, but Reason (R) is not the
correct explanation of Assertion (A).

Q4. Assertion (A): Spartacist league was a war veterans organisation in Germany.

Reason (R): Spartacist league demanded that the Soviet's-style of governance be set
up in Germany.
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Answer : (c) Assertion (A) is true, but Reason (R) is false.
Q5. Assertion (A): Nazism was an Anti-democratic Movement.
Reason (R): Nazism is a sworn enemy of liberalism, democracy and civil liberties.

Answer : (a) Both Assertion (A) and Reason (R) are true and Reason (R) is the correct
explanation of Assertion (A).

Q6. Assertion (A): Politically, Germany was a Single- party System where only the
Nazi Party could wield power.

Reason (R): The whole education system was put under the control of the state of
propagate Nazism.

Answer : (b) Both Assertion (A) and Reason (R) are true, but Reason (R) is not the
correct explanation of Assertion (A).
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